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16. (1) NaHCO3 (2) CO (3) H,S0; (4) H,0 (5) CO, (6) Ca(OH), (FHABZE %
SHEA]D
17. (1) n (2) 34.0g<X<37.0g (3) KCl (4) 28.6%
1857 AT & %
19. (1) CaO+H,0=Ca(OH), (2) —ffhitE E4W +4 (3) BEEHENIEA
A A SRR
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20. (1) CO,+H,0=H,CO; (2) CaCOs; == ca0+c0o, t (3) Fe+CuCl,=Cu-+FeCl,

(4) 2KOH~+H,504=K,S04+2H,0 (A2 =& FRIA])

2136  HARMW7E 2 NaOHA+HCI=NaCl+H,0 B{ Na,CO3;+2HCI=2NaCl+
H,0+CO, ¢

22. (1) FeS0, (2) Cuy(OH),CO3+2H,504=2CuS0,+3H,0+C0O, t (3) Fe+CuS0,=Cu
+FeS0,

Fe—I-HZSO4=FeSO4—|-H2 T
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23. (1) WK W& (20, H, BC %
(3) HibEKSgNv»

24. OMithiR QAAMIMER O FHK @B

95. (1) NaOH (2) 4§ (54T NaHCO, (3) 2H,0=E=2y, t 40, 1
26. ¥Rox (1) WAk, M KERARZRLE (2) 10 H  HSO,
AYRN B F

27. (1) 98g 64g (2) 553ml (3) 2g

28. (1) 78.8% (2) 19.6%
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